20245 KEREHRR

KGR

1. &8t 52— (BEZKM: JbILEXEKH)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — 0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.12 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.011 — — 0.020 = — 0.014 — — 0.004 =
24| THUOOEEE 37BE 4 [003UTF mg/| — <0.002 — — 0.003 — — <0.002 — — <0.002 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.014 — — 0.024 = — 0.017 — — 0.006 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.008 — — 0.007 — — 0.004 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.003 — — 0.002 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 0.2LLF mg/| — 0.01 — — 0.03 = — 0.01 — — 0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0UTF mg/| — — — — 0.010 — — = = = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| RVALRUVZDIEEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — = =
38| iB{EMAA #A 12| 200LLF mg/| 6.1 4.1 3.7 4.7 4.0 1.0 4.1 45 43 5.3 5.7 5.6
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 18 = — = — = = =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 48 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.3 0.3 0.4 0.4 0.4 0.4 0.4 0.3 0.3 0.3 0.4
47| pHIE &#hA 12 5.8-8.6 7.2(19°C) | 7.2(22°C) | 7.224°C) | 7.1(26°C) | 7.3(28°C) | 7.3(28°C) | 7.1(25°C) | 7.2(22°C) | 7.2(17°C) | 7.2(17°C) | 7.3(15°C) | 7.1(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.2 0.3 0.3 0.3 0.2 0.2 0.2 0.1 0.3 0.2 0.3 0.3
* [ KB — — °c 15.4 20.0 23.8 275 315 29.3 258 19.0 13.0 8.2 78 10.0




20245 KEREHRR

KGR

I LIEHERERE T 2— (BEZKM: LkERKH)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.13 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.010 — — 0.022 = — 0.008 — — 0.004 =
24| THUOOEEE 37BE 4 [003UTF mg/| — 0.003 — — 0.004 — — <0.002 — — <0.002 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.013 — — 0.026 = — 0.010 — — 0.007 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.009 — — 0.004 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.002 — — 0.003 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.02 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0UTF mg/| — — — — 0.015 — — = = = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.3 — — — — — — —
31| IVAVRUZDILEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — — = =
38| iB{EMAA #A 12| 200LLF mg/| 4.0 4.0 38 3.7 4.2 2.0 5.1 4.0 44 5.1 5.6 5.1
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 16 = — = — = — =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 45 — — — — — — —
H| BAACREEEE F£16 1 0.2LLF mg/| — — — — <0.02 = — — — — — —
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.3 <0.3 0.4 0.5 0.4 0.5 0.3 0.3 0.4 0.3 0.4
47| pHIE &#hA 12 5.8-8.6 7.2(18°C) | 7.1(22°C) | 7.2(24°C) | 7.1(26°C) | 7.2(29°C) | 7.2(27°C) | 6.9(25°C) | 7.2(22°C) | 7.2(16°C) | 7.1(18°C) | 7.2(15°C) | 7.0(15°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.3 0.2 0.3 0.3 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.3
* [ KB — — °c 14.8 18.2 222 25.3 29.5 275 25.4 17.7 11.3 7.1 6.3 78




20245 KEREHRR

KGR

I BAEIZAT  (BRHEIZKith)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.13 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 | 0.06LLTF mg/| — 0.009 — — 0.019 = — 0.009 — — <0.001 =
24| THUOOEEE 37BE 4 [003UTF mg/| — 0.004 — — 0.003 — — <0.002 — — 0.003 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — 0.002 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.012 — — 0.022 = — 0.011 — — 0.005 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.005 — — 0.009 — — 0.004 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.003 = — 0.002 — — 0.003 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.03 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0UTF mg/| — — — — 0.008 — — = = = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| IVAVRUZDILEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — — = =
38| iB{EMAA #A 12| 200LLF mg/| 4.2 4.0 3.8 3.9 4.1 3.7 5.0 3.9 4.4 5.1 5.8 5.3
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 16 = — = — = — =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 45 — — — — — — —
H| BAACREEEE F£16 1 0.2LLF mg/| — — — — <0.02 = — — — — — —
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| 0.3 0.4 0.3 0.3 0.5 0.4 0.5 0.3 0.3 0.4 0.3 0.4
47| pHIE &#hA 12 5.8-8.6 7.1(19°C) | 7.122°C) | 7.2(25°C) | 7.1(26°C) | 7.2(28°C) | 7.3(28°C) | 7.0(25°C) | 7.2(22°C) | 7.2(17°C) | 7.1(18°C) | 7.2(15°C) | 7.0(15°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.3 0.3 0.2 0.2 0.2 0.2 0.1 0.3 0.3 0.3 0.3 0.3
* [ KB — — °c 17.0 20.0 255 30.7 305 29.3 27.3 20.0 133 8.6 75 11.2




20245 KEREHR BKBF NIEBREITEAESESER (TAFE12KHM)
NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118

1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0

2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH

3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =

4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —

5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — 0.001 — — — — — — —

1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —

o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.11 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.06 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.012 — — 0.029 = — 0.013 — — 0.005 =
24| THUOOEEE 37BE 4 [003UTF mg/| — <0.002 — — 0.005 — — <0.002 — — 0.004 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.015 — — 0.034 = — 0.016 — — 0.008 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.008 — — 0.005 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.005 = — 0.003 — — 0.003 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — 0.008 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.02 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0UTF mg/| — — — — 0.020 — — = = = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| IVAVRUZDILEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — — = =
38| iB{EMAA #A 12| 200LLF mg/| 4.0 4.0 3.7 4.0 4.0 3.7 5.2 3.8 44 5.1 5.5 5.7
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 17 = — = — = — =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 44 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — <0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.3 <0.3 0.4 0.6 0.4 0.5 0.3 <0.3 0.4 0.3 0.4
47| pHIE &#hA 12 5.8-8.6 7.1(18°C) | 7.0(22°C) | 7.1(24°C) | 7.0(26°C) | 7.0(27°C) | 7.1(27°C) | 6.9(25°C) | 7.1(22°C) | 7.1(17°C) | 7.0(17°C) | 7.1(15°C) | 7.0(15°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.2 0.2 0.2 0.1 0.2 0.1 0.2 0.2 0.3 0.2 0.3 0.2
* [ KB — — °c 14.2 19.3 225 26.0 29.4 285 25.0 18.5 11.7 1.5 6.3 8.4




20245 KEREHRR

KGR

V. IESH(TRFE2%2KiM)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.13 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.011 — — 0.025 = — 0.009 — — 0.003 =
24| THUOOEEE 37BE 4 [003UTF mg/| — <0.002 — — 0.003 — — <0.002 — — 0.002 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.014 — — 0.029 = — 0.011 — — 0.005 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.009 — — 0.004 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.002 — — 0.002 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.03 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0LF mg/| — — — — <0.005 — — — — — = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.3 — — — — — — —
31| IVAVRUZDILEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — — = =
38| iB{EMAA #A 12| 200LLF mg/| 4.0 4.0 39 3.7 4.1 3.7 49 3.9 43 5.1 5.8 5.3
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 17 = — = — = — =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 46 — — — — — — —
H| BAACREEEE F£16 1 0.2LLF mg/| — — — — <0.02 = — — — — — —
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.4 0.3 0.4 0.5 0.4 0.5 03 0.3 0.4 0.3 0.4
47| pHIE &#hA 12 5.8-8.6 7.3(18°C) | 7.3(22°C) | 7.3(24°C) | 7.3(26°C) | 7.6(28°C) | 7.5(27°C) | 7.4(25°C) | 7.4(22°C) | 7.5(16°C) | 7.2(17°C) | 7.3(15°C) | 7.2(17°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.3
* [ KB — — °c 14.7 223 30.0 28.0 329 320 23.0 20.6 13.0 9.0 6.8 10.2




20245 KEREHR KGR VILERIELE(ZEARZKM)
NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118

1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0

2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH

3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =

4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —

5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —

1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —

o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.13 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.010 — — 0.022 = — 0.008 — — 0.003 =
24| THUOOEEE 37BE 4 [003UTF mg/| — 0.007 — — 0.004 — — <0.002 — — 0.003 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.013 — — 0.026 = — 0.010 — — 0.005 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.005 — — 0.008 — — 0.004 — — 0.002 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.002 — — 0.002 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.03 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0LF mg/| — — — — <0.005 — — — — = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| RVALRUVZDIEEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — = = =
38| iB{EMAA #A 12| 200LLF mg/| 4.0 4.0 38 3.6 4.2 3.7 438 3.9 45 5.1 5.9 5.1
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 15 = — = = = =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 44 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.3 0.3 0.4 0.5 0.4 0.5 03 0.4 0.4 0.4 0.4
47| pHIE &#hA 12 5.8-8.6 7.1(19°C) | 7.0(22°C) | 7.024°C) | 7.026°C) | 7.1(27°C) | 7.1(27°C) | 6.9(25°C) | 7.1(22°C) | 7.1(16°C) | 7.0(17°C) | 7.2(15°C) | 7.0(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.3 0.4 0.3 0.4 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.4
* [ KB — — °c 14.5 18.0 19.8 24.0 277 27.0 24.0 18.0 1.5 8.3 6.6 9.3




20245 KEREHRR

KGR

VIL#S B 32 i (B EE 2Kt - iR B R X E2 K ith)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.11 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.011 — — 0.021 = — 0.010 — — 0.003 =
24| THUOOEEE 37BE 4 [003UTF mg/| — <0.002 — — 0.003 — — <0.002 — — 0.003 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.014 — — 0.025 = — 0.012 — — 0.005 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.008 — — 0.005 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.002 — — 0.002 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 16 1 1.OUTF mg/I — — — — 0.011 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.03 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0UTF mg/| — — — — 0.014 — — = = = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| RVALRUVZDIEEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — = = =
38| iB{EMAA #A 12| 200LLF mg/| 4.7 4.0 3.7 44 4.1 3.8 4.1 3.9 43 5.2 5.8 5.6
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 18 = — = — = = =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 49 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.4 0.3 0.4 0.4 0.4 0.4 03 0.3 0.4 0.3 0.4
47| pHIE &#hA 12 5.8-8.6 7.2(19°C) | 7.2(22°C) | 7.224°C) | 7.1(26°C) | 7.3(28°C) | 7.3(27°C) | 7.2(25°C) | 7.3(22°C) | 7.2(17°C) | 7.1(18°C) | 7.3(15°C) | 7.1(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.3 0.2 0.3 0.3 0.3 0.2 0.2 0.3 0.3 0.3 0.3 0.3
* [ KB — — °c 14.7 18.5 243 28.3 30.0 30.0 25.3 18.0 10.3 6.6 5.3 8.8




20245 KEREHRR

KGR

VILE AR (BB 2Kt REE X E2K )

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118

1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0

2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH

3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =

4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —

5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —

1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —

o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.12 = = = — = — =
12| IvRRUZDILEY &£1[ 1 08T mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.012 — — 0.025 = — 0.013 — — 0.004 =
24| THUOOEEE 37BE 4 [003UTF mg/| — <0.002 — — 0.003 — — <0.002 — — 0.003 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.015 — — 0.030 = — 0.016 — — 0.007 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.008 — — 0.006 — — 0.004 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.005 = — 0.003 — — 0.003 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — 0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.03 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 03T mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0LF mg/| — — — — <0.005 — — — — = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| RVALRUVZDIEEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — = = =
38| | AIA &R 12| 20080 F mg/| 5.8 4.1 3.8 48 4.0 4.0 4.0 43 42 5.2 5.3 6.0
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 18 = — = — = = =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 49 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 = = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.3 0.3 0.4 0.4 0.4 0.4 0.4 0.3 0.3 0.4 0.4
47| pHIE &#hA 12 5.8-8.6 7.1(18°C) | 7.2(22°C) | 7.2(24°C) | 7.2(26°C) | 7.4(27°C) | 7.2(27°C) | 7.2(24°C) | 7.2(22°C) | 7.2(17°C) | 7.2(19°C) | 7.2(16°C) | 7.1(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
9| BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.2 0.2 0.2 0.2 0.2 0.1 0.1 0.2 0.2 0.2 0.3 0.2
* [ KB — — °c 13.0 17.7 20.8 25.0 28.6 26.8 245 17.5 10.5 5.9 5.0 8.0




20245 KEREHRR

KGR

X LR =FT (BBE 2K R X EK)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118

1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0

2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH

3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =

4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —

5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —

1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =

8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —

o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.12 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.014 — — 0.025 = — 0.020 — — 0.005 =
24| THUOOEEE 37BE 4 [003UTF mg/| — <0.002 — — 0.002 — — <0.002 — — <0.002 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — 0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.018 — — 0.030 = — 0.024 — — 0.009 =
28| kYO OOEEEE 3vAfE 4 | 003LUTF mg/| — 0.006 — — 0.007 — — 0.007 — — 0.004 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.004 — — 0.005 = — 0.004 — — 0.003 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.03 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0LF mg/| — — — — <0.005 — — — — — = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.6 — — — — — — —
31| IVAVRUZDILEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — — = =
38| | AIA &R 12| 20080 F mg/| 6.4 4.1 3.6 6.3 4.0 4.0 4.4 3.9 42 5.2 5.5 6.6
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 19 = — = — = — =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 50 — — — — — — —
H| BAACREEEE F£16 1 0.2LLF mg/| — — — — <0.02 = — — — — — —
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| 0.3 0.3 0.3 0.4 0.4 05 0.5 0.4 0.4 0.3 0.4 <03
47| pHIE &#hA 12 5.8-8.6 7.1(19°C) | 7.2(22°C) | 7.3(24°C) | 7.2(26°C) | 7.4(28°C) | 7.3(27°C) | 7.2(24°C) | 7.2(22°C) | 7.2(17°C) | 7.3(18°C) | 7.3(16°C) | 7.2(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.2 0.1 0.2 0.2 0.2 0.1 0.1 0.1 0.2 0.2 0.2 0.2
* [ KB — — °c 14.3 19.5 225 275 30.3 29.8 25.3 18.2 11.8 7.0 6.0 8.8




20245 KEREHRR

KGR

XTO7VILT7 (BBEZKM: ASERXEKH)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — £0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.11 = = = — = — =
12| IvRRUZDILEY &£1[ 1 0.8LLF mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.012 — — 0.023 = — 0.010 — — 0.004 =
24| THUOOEEE 37BE 4 [003UTF mg/| — 0.002 — — 0.004 — — <0.002 — — 0.002 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.015 — — 0.027 = — 0.013 — — 0.006 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.006 — — 0.008 — — 0.005 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.003 — — 0.002 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 0.2LLF mg/| — <0.01 — — 0.03 = — 0.01 — — 0.01 =
34| HBRUZDIEED &£1[ 1 0.3 F mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0LF mg/| — — — — <0.005 — — — — = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| RVALRUVZDIEEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — = =
38| iB{EMAA #A 12| 200LLF mg/| 44 4.0 3.6 4.0 4.0 3.7 44 3.7 4.4 5.5 5.7 5.3
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 17 = — = — = = =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 42 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 — = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.4 0.3 0.4 0.4 0.4 0.5 03 <0.3 0.3 0.4 0.4
47| pHIE &#hA 12 5.8-8.6 7.1(19°C) [ 7.1(22°C) | 7.1(24°C) | 7.0(26°C) | 7.1(28°C) | 7.1(27°C) | 7.0(25°C) | 7.1(22°C) | 7.2(17°C) | 7.1(18°C) | 7.2(16°C) | 7.0(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
49 BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.2 0.2 0.3 0.3 0.2 0.3 0.2 0.3 0.3 0.2 0.3 0.3
* [ KB — — °c 14.2 19.0 23.8 275 29.7 295 25.4 19.4 12.6 1.5 6.0 8.3




20245 KEREHRR

KGR

XIKRARE(FRE22KM)

NO KEEEIER B | KEEE| Hf 48 58 68 78 8H 98 108 118 128 18 28 38 &
®KE 4898 [ 58148 [ 68118 | 7898 [ 8B268 [ 98108 [ 10888 [11H128 [128108 [ 18148 | 28108 | 38118
1| —ReHE &#hA 12| 100LLF [ CFU/mI 0 0 0 0 0 0 0 0 0 0 0 0
2| Ka&E #h 12 |mssheoce] — THRE | T8 | T8Y | T8E | T8l | T | Tl | TEH | THBHE | TERHE | TRE | TRH
3| AFEVLRUZDIEEY £1[ 1 [0.003LLF[ mg/l — — — — <0.0003 — — = = = = =
4 KEBERUVZDILEY 10 1 |0.0005AF|  mg/ — — — — <0.00005 — — — — — — —
5| FLURUZDIEEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
6| SRRUZDILEY &£1[ 1 0.01LUF mg/| — — — — <0.001 — — — — — — —
1| ERRUZDIELEY £1[ 1 001LLF mg/| — — — — <0.001 — — — — = = =
8| KNIV OLILED 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
o] EHBEZRER 3vA8 4 | 004LLF mg/| — <0.004 — — <0.004 = — <0.004 — = <0.004 =
10 ST7UAMAAURUELLLTV | 3vAE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
11| MHREZEFRUVEHBEZES | £10 1 10LLF mg/I — — — — 0.13 = = = — = — =
12| IvRRUZDILEY &£1[ 1 08T mg/I — — — — 0.08 — — — — — — —
13| KIRRUZDILEY 3vA®E 4 10T mg/| — <0.05 — — <0.05 — — <0.05 — — <0.05 —
14| PIE{ERSR &£1[ 1 ]0.002LLF| mg/l — — — — <0.0002 — — — — — — —
15| 14-CFFH> 3vA8 4 | 005LLF mg/| — <0.005 — — <0.005 = — <0.005 — = <0.005 =
16| >2-12-9900IFLURUISYR-12-998ATFLY F1[[] 1 0.04LLF mg/| — — — — <0.0004 — — — — — — —
17| oyoorey F£1m 1 0.02LLF mg/| — — — — <0.001 — — — — — — —
18] FhSHYOOIFLY 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
19| MJHOOIFLY £1[0 1 0.01LF mg/| — — — — <0.001 — — — — = — =
20 Rotr 10 1 [001UF mg/I — — — — <0.001 — — — — — — —
21| IBFREE 3vAE 4 0.6LLTF mg/| — <0.06 — — 0.07 — — <0.06 — — <0.06 —
22| HOOEFEg 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
23] yook)LL 3vA8 4 [006LLTF mg/| — 0.010 — — 0.022 = — 0.008 — — 0.002 =
24| THUOOEEE 37BE 4 [003UTF mg/| — 0.002 — — 0.003 — — <0.002 — — 0.003 —
25| JpoEH/OOA%Y 3vAE 4 01T mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
26| RFREE 37BE 4 [ 001LLTF mg/I — <0.001 — — <0.001 — — <0.001 — — <0.001 —
21| #RYNOARY 3vA8 4 0.1LLF mg/| — 0.013 — — 0.026 = — 0.010 — — 0.004 =
28] RYHYOOEEREE 37BE 4 [003UTF mg/| — 0.005 — — 0.009 — — 0.004 — — 0.003 —
20| JOESHOOARY 3vA% 4 [003LUF mg/| — 0.003 — — 0.004 = — 0.002 — — 0.002 =
30 JOERILL 37RE 4 | 0.09LLF mg/| — <0.001 — — <0.001 — — <0.001 — — <0.001 —
31 FRILLTILTER 3vAE 4 | 0.08LLF mg/| — <0.008 — — <0.008 — — <0.008 — — <0.008 —
32| BHERRUZDILEY 10 1 1.0UTF mg/I — — — — <0.005 — — — — — — —
33 FII=DLRUZDILEY 3vA8 4 02LF mg/| — <0.01 — — 0.02 = — 0.01 — — <0.01 =
34| HBRUZDIEED &£1[ 1 03T mg/I — — — — £0.02 — — — — — — —
35| HRUZDILED £1[ 1 1.0UTF mg/| — — — — 0.006 — — = = = = =
36| FRIDLRUZDIEEY 10 1 2000 F mg/I — — — — 4.4 — — — — — — —
31| IVAVRUZDILEY £1[ 1 0.05LLF mg/| — — — — <0.001 — — — — — = =
38| | AIA &R 12| 2000 F mg/| 3.8 4.0 3.9 3.7 42 3.8 49 3.9 4.4 5.1 5.8 5.3
39| AL ITRIHLEGREE) | F1E 1 300LLF [CaCO3me/I — — — — 15 = — = — = — =
40| ZERZEBY &£1[ 1 5004 F mg/| — — — — 44 — — — — — — —
H| BAACREEEE F£16 1 02LLF mg/I — — — — <0.02 — — = = = = =
2| DIFRIV £1[3 1 [0.00001AF| mg/l — — — — 0.000001 — — — — — — —
43| 2-AFILAVRILRF—IL 10 1 [o00001 A F[  me/i — — — — <0.000001 — — = = = — =
44| AV REEMER 37BE 4 [002LUF mg/| — <0.002 — — £0.002 — — <0.002 — — <0.002 —
45| Jx/—LE £16E 1 |0.005LLF| mg/l = — — — <0.0005 = = = = = — =
46| ARMEHFRIKETOCDE) &#h 12 3UTF mg/| <0.3 0.3 <0.3 0.4 0.6 0.4 0.6 <03 <0.3 0.3 0.4 0.3
47| pHIE &#hA 12 5.8-8.6 7.1(19°C) | 7.0(22°C) | 7.024°C) | 7.0(26°C) | 7.1(27°C) | 7.0(27°C) | 6.9(25°C) | 7.1(22°C) | 7.1(18°C) | 7.0(18°C) | 7.2(15°C) | 7.0(16°C)
48| Bk =3 12 | EELGL EELL | EEAL | BE4L | B840 | EE4L [ EE24L | EB4L | E84L | EELGL | E¥4L | 2840 | E84L
9| BR 3 12 | EELGL EELL | EEAL | BEAL | BE4L | EEAL [ EB4L | EB4L | E24L | EEAGL | EE¥4L | EE4L | E84L
50| @R &BhA 12 5L & <05 <05 <05 <05 <05 <05 <05 <05 <0.5 <05 <05 <05
51| BE 3 12 2LLF B <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
* | BBIER — — mg/| 0.2 0.3 0.2 0.3 0.3 0.3 0.2 0.3 0.3 0.3 0.3 0.3
* [ KB — — °c 15.5 19.3 24.0 27.0 30.7 29.3 25.7 19.6 11.0 75 6.8 105




